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G = 7 − 3(2x − 1) − (−4x + 5)

H = (x − 5)(2x + 3) + (−x + 2)(4x − 1)
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qhezghMN = 12 cm{�hjqgolnmoqrgfhifehX�bqhezghAM = 7 cm{
�{�dmihgohy�gih{
�{xsunoqihizghehqimdo�ehAMN hjqgoqimdo�ehihfqdo�eh{
�{cdefgehiAN hodiinormjjdoqdgumeemu�qih{
�{cdefgehie�dmihhqehlsimu�qihrgqimdo�ehAMN {
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�{cnojqigmihedy�gihhopidmh�idorhgi{�oedmjjhidehjqidmqjrhfnojqigfqmnojdlldihoqj{
RS = 6 RM = 3, 6 RT = 8 ST = 10

e�gomqshjqehfhoqmu�qih{
�{xsunoqihizghehqimdo�ehSRT hjqihfqdo�ehhqlisfmjhihozghejnuuhq{
�{�orsrgmihedodqgihrgzgdrimedq�ihRMON {�gjqmyhi{
�{xsunoqihizghON = 3, 6 hq(RM)//(ON){
�{cdefgehiedeno�ghgiOT {
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ÊBC = 32
hqD̂CB = 25
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